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Full Marks : 50
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P The figures in the margm mdzoate ﬁdl marks
- Jor the questzons

Arts students will answer ECOH—-203 (A) and Science
£ students will answer ECOH~203 (B)

( For Arts Students )
OPTION A
Coufse No ECOH-—ZOS (A)
( MATHEMATICS FOR ECONOMICS )
er five questlons, takmg one from each Umt

UN I'I‘--—I

| a Find Y., Yp» the general solution and the
” deﬁngg soIiutlon of the following :  3+3=6

Y L4y =6 y0) =1
(z) 2dx+y Yl

( Tum Over)



/ (2)

| . (]1/ + ay =D
(M A o
' N tt
b Solve -
v d*y 79 +12y=0
“d;”fz“ dx

fa) 1
e the following differential equation
Solve
day, ¥i+2% -0
ar - ti+9
ly functions, wh..
demand and SUppX »
(b) Thit; p(:‘i ce, O, is quantity dema}nded ang
g is quantity supplied, are given as (b}
S ’ |

0, =10-0-8p
0, =-6+1-2p
and %:o.e(od -Q,). Find the tiy

2. (a)

0 \ path of price.

UNIT—II

3. @ A cén‘suxﬁef'facés‘a utlhty functlon of th
N \ak : i — 0- % K .
lom 4=2.90% . q04 where g and ¢




(3)

J(b/ Find the price elasticity of demand for o -
the following function at P =5 : 3

OMI'SIN\RE()

If the total cost function is
1 .
c»-m-a..oi‘ -30? +90

find at what level of output AC be
minimum and show that at that level of
output AC = MC. 342=5

Suppose  that the demand and
total cost functions of a monopolist are

P=20- 4x and C=4x respectively. If a
tax of 5 per unit quantxty produced is
imposed, find the quannty and the price

that would correspond to the maximum
profit of monopohst What W111 be the

maximum proﬁt? 4+1=5

‘5. fa) Define linear homogeneouspmducugn e
. function with a suitable example. = =~ 4
~ (b) Determine the level of ﬁambgenei‘ty‘aﬁé: i
- returns to scale for the followmg
production function :

) 0=0.9K92106




6. Given the fut

constants.

(@)

()

(c)

7. (@)

(4)

+pL

6
064 1073

i) 0 =K 4

i Q=K ;
”,AX 1/ ,A bd!jf .

jction,

conditions under which th,
1e

Find t! heotis function.

linear homoge ;7

Apply Euler’s theorem if these condjy;
PP

hold true.

Show that for Cobb- Douglas prody.-

function, elasticity ~of substitution

unity.

UNIT—IV

Prove that 1n an open input-o u*~

 model, a umque solutlon can be obtair
’ from the equatmn . L

i ,,,/Where A
i ‘;fmatrm and F= ﬁnal demand

e

=(I- A)"1

lnputmutput coeffici

,; ﬁlf've“fy Whether Hawkms Sun
i fondltlons are for the follow
. technologicy) Coefficient matrix :

A:.:[O 75 0.32
0.48 036




(5)

0-1 03 0.1 Fy =20
A=| 0 0.2 0.2| F=|Fy=0
- 0O 0 0.3 Fy =0

Verify

ind the output 1 and X3
: put levels of x;, X3 3 243210

UNIT—V

) Given technological coefficient matrix

iy [0 0-1
T 10877046

and output vector

‘ x [176 5]
i 5588

(i) - Find the gross value added.
() Find the output level disposal to

~ final demand.
(m} Show that the total dlsposal to final
demand is equal to the total value
added i v Yol
;"‘ses of mput—output analysxs 3

‘ 'f:-Show\ that 1n closed 1nput~output model

. the solutxon is indeterminate,. = 7
. (b) Discuss the lizmtatlons of mput-output
~ enalysis. 3
/1118

( Tum Over )




o Gcience students )

(‘)PTION - B
. H-203 (B
No : ECO (B) L

THEMATICAL ECON,,

Cmn‘sc

EMENTS OF
. taking one from each,

=+ 3
3
L3
C‘

Z

3

L

By

e term player in the g,
lve the following game Wh

theory. SO

the pay-off matrx of firm A is g, |

below s A 2)

R i)

Firm A B By ;
A1 1 3
A2 0 i 4

s L 5

(b) What do you mean by
equmbnum Of a game? g

- (a) Explam the followmg cdﬁté\ ‘
(l) Pay-off matrix Pty




UNIt—11

f, Given the technology matrix

0:3 0.2 0.9
A=10.2 0.1 0.5
0.-2 0.4 0.2

The consumption demand vector

e

C=|30
S0

g Fmd the output level consxstent thh the
iy model. ' = 4

fb} Check Hawkins-Simon conditions. 3
fc} Find the mterrned1ate uses of the three

commodities.: 3

.. Given

and final demands are Fl, F2 and F3
“fa) Find the output lcvel consistent with the
~ model. 5
(b) What will be the output levels if Fy --=10 ‘
. | =5 a,l‘ld F 4 ® 6? ‘2
g Check Hawkins-Sxmon condition for the
L above. e &0 3

TR i e ~ (Turn Qver )

w73



uniT—III

ahort & note gy,

write A :
8. () put analysis.

input-ou!

. ')
annlysist

6. (a) Whatis 8 dynamic input-outpuy .
How is this system used in ﬁr;r,?._'
planning? Elaborate. ,

(b) In a closed input-output mode], ;.
solution of the system 1S not peqg.
Comment. "

UNIT—IV
7. {a) Distinguish between feasible solutio-

and basic feasible solutions in a lin
programming problem. o

(b) Solve the followin

problem by graph
MaXimize

SUbject to

ic methad & 0 o

1+3x,

1*x; 56 : s

X120

8J/1118




(9 e

(a) What is meant by simplex tableau'? oA 4 |
(P) Solve the followmg linear programmmg
Pﬂﬂﬂenxb

\ Yy SImplex method : 6

T =2x +5x,
Subject tq
X "‘4)62 <24
3x) +4x, <21
X1 +x, <9
X1, X5 20

UN IT—V

4 (a} Explain the concept of duahty with the

help of an €conomic example. 4
(b) Find the dual of the following linear
Programming problem 6
Maximize
Z = clxl +czx2 ‘
subjectto iy
a 1% +012x2 < bl
ayx <b,
GyXy < ba
xl, Xg 2 0
{a) vae a general formulatlon of lmear
programrmng problem  of - cost -
.8
2018/EVEN/SEM/

ECOH-~203 (A/B)/298




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

